No.1

[HSHEE RARSFFEREFTHREAFRETRER—IEERE
L=y JIL—4% EIE|  3-nsqL 500m LAP 1000m LAP &z

BFOUTILRAL| 1 | EAER <l > 3| 5:53i82 | 1:53:90| 3:55:79
No. 2 |HEIXSR < HEE D> 2| 515364 1i54i37| 3i55i13
1 | FEAH 3 | EAEK < REAR S 5:32:72 | 1:48:46 | 3:38:61
6A4H(A) 4 | BEEER CIME > 5| 6i08:i38| 2:04:10| 4:07:87
8:30 5 | BHEESRK < SR > 4| 6:06i42 | 1:56:42 | 4:00:90

LAY 1A 6
BFOUTILRAL| 1 | BREEER < IEE > 5| 6i11i86 | 2i01:20| 4:07:38
No. 2 | AT < HE > 3| 5:54i36| 1:55:07| 3:i54i65
2 | F:EBH 3 | EFEEK < AR > 5:37:70 | 1:45i39 | 3:i41:59
6A4H(A) 4 | BEREEEK <l > 2 | 5i43i07 | 1i50i30| 3i45i50
8:38 5 | BEEK < Jldm > 4 | 6:i05i35 | 2i56:80| 4:01:i10

EAY 1N g 6

BFUTILAAIL] 1
No. 2 | EEER < /AR D> 4] 6i20i01| 2:08i00| 4i16:06
3 | FECH 3 | HEIXSHR < ZEXR D 2| 5:47i33| 1i51i73 | 3i49i30
6A4H(A) 4 | EAERK < B D 1 5:42:93 | 1:52:79| 3i50:83
8:46 5 | EEEEK < ®M > 3| 5:47:89 | 1:55:07| 3:52:59

EAY 1N g 6

TFUTILABIL] 1
No. 2 | EEEEK < FF > 4 7:17:79 | 2:24:75| 4:50:87
4 | FEAM 3 | EAEK < EXR D 6:15i95 | 1:58:i81 | 4:04:27
6848 (H) 4 | EEEREK < /K>3 6:50:21 2:14:54 | 4:29:50
8:54 5 | EAEK < # > 2| 6:34:i18| 2:08:62| 4:18:89

LAY 2/na 6

TFIUTILAAIL| 1
No. 2 | EAEK < HiEHE > 2 6:28:13 | 2:11:08 | 4:21:07
5 | FEBH 3 | EEEEK = 6:24:13 | 2:02:92 | 4:12:32
6A4H(A) 4 | EAERK < Ak > 3| 6i35i71 | 2:07:i61| 4i20:11

9:02 5

LAY 2/na 6

BFFITILRAIL| 1
No. 2 | BEEEK 2 | 5i27:90 | 1:43i86| 3:34i73
6 | F:EAM 3 | HEEREEKA 1 5:17:08 | 1:40:88 | 3:i27:31
6H4H(B) 4 | HEITESKB 4 | 55790 | 1i54i96 | 3i56:i78
9:10 5 | EEREEKD 3| 5:46:33| 1:55:30| 3:50:67

EAY 2/Na 6

BFFITILRAIL| 1
No. 2 | EFEEEKRC 4 | 5i46i71 | 1i55i01 | 3i50:i31
7 |FEBH 3 | HEIEXERA 2 | 5:32:39 | 1:44:55| 3:38:60
6H4H(8) 4 | EAERK 1 5:23i19 | 1:46:i97 | 3i35:92
9:18 5 | EEEEKB 3| 5:36:i10| 1:49i92 | 3:44:92

EAY 2/na 6




No.2

FHSHEE EBHESEFZREZFHRERTREHR— I HREE
L=y JIL—4% EIE|  3-nsqL 500m LAP 1000m LAP &z
ZFATILAAIIL| 1
No. 2
8 |iRRF I 3 | BHEK 2 6:24:60( 2:05:87 | 4i14:79
6H48(H) 4 | EAEK 1 5:46:96 [ 1:55:63 | 3:52:82
9:26 5
— 6
BERFHAIAELTIL] A
No. 2 | EEEEK 3 5:07:80 1:42:41 | 3:24:17
9 |iRRF I 3 | EAEK 1 4:51i62 | 1i36i71 | 3i13:i90
6848 (H) 4 | FEIESK 2 5:03:69  1:38:19 | 3:19:99
9:34 5 | BEEK 4 5:34:99 ( 1:49:28 | 3:40:96
— 6
TFRFAIFELTIL| 1
No. 2
10 |iREE I 3 | BHEK 2 5:38i63 | 1:49:i75 | 3:43i82
6848 (H) 4 | EAERK 1 5:35:53 | 1:51:51 | 3;44:19
9:42 5
— 6
BFUTNLRAIIL] 1
No. 2 | EEER < lEm > 3 3:58:55 | 1:56:46
11 |BEAK 3 | EEEEK < WA >t 3i45i55 | 1i50i95 1000mL — X
6H4R8(H) 4 | EFER < HE S 2| 3:49:30| 1:54:71
11:00 5
EHBY 1 g 6
BFUTNLRAIIL] 1
No. 2 | EEEEK < R oD 2 3:956:43 | 1:57:53
12 (i B#E 3 | HEIZER < FEXK D> 1| 3:49117| 1:i52:14 1000mL—2
6848 (H) 4 | EAERK < WA > 3 3:956:98 | 1:56:i12
11:05 5 | EFEEK <CEXR D 4 4:15i17 | 2i07i52
EHBY 1A 6
BFUTILRAIL] A
No. 2 | EFEER < IMgE S| 4 3:i56:99 [ 1:56:91
13 |BRfECHE 3 | EEREEK < ®m > 3i44:i43 [ 1:53i15 1000mL—2
6H4B((H) 4 | HEIESKR < BR > 2 3:50:43 | 1:53:67
11:10 5 | BEFEEER < HE > 3 3:55i22 | 1:58:i04
EAY 1N g 6
ZFIUTILAAIL| 1
No. 2 | EREEK < FIFE > 3 4:40:54 | 2:17:81
14 |BRiEARE 3 | EAEK < AR D 4:19:58 | 2:06:81 1000mL—2
6H4B8((H) 4 | BEFEEREK < BERD 2 4:23:48 | 2:10i13
11:15 5
EAY 2/na 6




No.3

SHSFEE BHAESFEREFTLREARERER—IHHEE
L=y JIL—4% EIE|  3-nsqL 500m LAP 1000m LAP &z
BIEITILRAIL| 1
No. 2 | EEEEKRC 1 3i40:35 | 1i46i21
15 |BR 1B AR 3 | EEEE®RB 2 | 3:40i77 | 14775
ki 1000mL—2
6A4H(A) 4 | BREEEKRD 3| 3i50i20| 1i54:34
11:20 5 | HEITXE#B 4 | 3:54i59 | 1:52:04
LAY 2/\a 6




No.4

FHSHEE EBHESEFZREZFHRERTREHR— I HREE
L=y JIL—4% EIE|  3-nsqL 500m LAP 1000m LAP &z

TFRFAIFELTIL| 1

No. 2
16 |#RB I 3 | AT 1 5:54:97 1:56:74 | 3:i55:i71
6H48(H) 4 | BEEER 2 6:00:38  1:59:79 | 4:01:06

16:30 5

— 6

BERFHAIAELTIL] A
No. 2 | EEEEK 3 5:27:34 1:47:80 | 3:35:33
17 |iRB I 3 | EAEK 1 5i18i70 | 1:44:i85| 3i32i34
6848 (H) 4 | FEIESK 2 5:23:97 | 1:46:65| 3:35:89
16:38 5 | BEEK 4 5:54:98 [ 1:55:80 | 3:i56:97

— 6

ZFATILAAIL| 1

No. 2
18 |iREE I 3 | EAEK 1 6:12i69 | 2:02:52 | 4:06:36
6848 (H) 4 | BEEER 2 6:56:69 | 2:16:09 | 4:37:21

16:46 5

— 6
BFFITILAAIL| 1 | BEFESKRC 6 | 6:17:03| 2:03i66 | 4i11:05
No. 2 | EEER 3 5:56:35| 1:51:93 | 3:50:72
19 |iRBS 3 | BEREERA 1 541140 1:48i79 | 3i43:i50
6848 (H) 4 | EAERK 2 5:46:18 | 1:55:19 | 3:;48:76
16:54 5 | MEIXSKA 5 6i04:66 | 1:55i72  3i58:09
— 6 | BEXEEXB 4 6:02:29 ( 1:57:11 | 3:58:67
TRFOUTNRAL| 1 | EAERK < AR > 6 | 7:21:i38| 2:21:50| 4:i51:41
No. 2 | EAEK <ty > 4 7:10:08 | 2:22:10 | 4:44:70
20 |iR B 3 | EAEK < EXR D 6:41:82( 2:10:02 | 4i24:36
6848 (H) 4 | BEREEEK < ERE Dl 2 6:45:49 2:11:89 | 4:28:08
17:02 5 | EAEK < #® >3 6i47:i06 | 2i13i21 | 4i29i43
— 6 | BEREEEK < EAR D b 7:18:71 | 2:26:71 | 4:53:07
BFOUTLAAL| 1 | BREESK <l > 4| 6:10i05| 1:59:i15| 4:04:72
No. 2 | EAEK < HhiE > 5 6;18:57 | 2:01:79 | 4:11:41
21 |iRBE 3 | EAEK < RAR > 5:56i88 [ 1:56i52 [ 3i53:i80
6H4H(H) 4 | BFER < AR > 2 6:05:50 [ 1:57:21 | 3:59:69
17:10 5 | BEFEEER < ®M > 6 6:19:80 | 2:04i60 | 4i12:63
— 6 | IEIEXSK < EXK > 3 6:09:38 | 1:58i46 | 4:03:58

KRBL—R T -TIZEVWTIBRIARELLGEWNMGS . RBIL—RATMEEHET 5.

XMEBEEFEL—RIF1000mDEEBETERET H. (B-&1x, B2x)




